IlepeyeHb OCHOBHBIX JeTaJjieil U y310B u3neaus JII1-1,3-02 JIucr 1

14.2
Yr1BEpxkaaro
Hauansauk OTO
19 20 21 22 Koszmos I1.A.
« » 20 L.

CMonm ;
meam N

55
253.153.2 54 56

CormacoBano
Nuxenep ITerpos B.I'
Hcnonnurens:
WNuxenep SAxosenkos 1.K.




IlepeyeHb OCHOBHBIX JeTaJieii U y3J10B usneans J(I1-1,3-02

Jluct 2

I HaumenoBanue K 25 | Konbuo pesunosoe 028-030-14 1 45 | Iaii6a 2 mm (D 17,9 x d 8,2) 1
1 | CereBoit mHyp ¢ Buikon 2x1,0 mm? 1 26 | Pbryar cronopHslit 1 46 bonr 3/4" — 16 BUTKOB 1
2 | TpyOka 3amuTHas 1 27 |Ilpyxuna 6x23,5x0,5 1 47 | Bunt cnienuanbHbii M6 1
3 | IInactuHa nprKUMHAs 1 28 |BuHT cnenmanbHblii M6 1 48 |IIpyxwuna 8,2x13x0,7 1
4  |Bunt camopes 4x14 mm 2 29 |Ilaii6a 1,6 mm (D 13,8x d 6,25) 1 49 |Ila#i6a 1,5 mm (D 13,9 xd 6,4) 1
5 | Ilonmypyuka neBas 1 30 |3axxuM ¢ BHYTpeHHEH pe3pboit M6 1 50 |OrpanuuuTens (pe3nHa) 1
6 |Konpencarop 0,22 uF 275V 1 31 |Bunt M4x8 1 51 |Bunt M6 1
7 | Bunt camope3s 4x15 4 32 |I'posep 4 1 52 |Konb1o cronopuoe Q7 1
8 | Brikmrouartens FA2-8/2BD 8A/250B 1 33 |Iait6a 0,4 mm (D 7,8 x d 4,3) 1 53 |llInungens B coope 1
9 | Bunr camopes 5x28 2 34 | Baxum 1 |||331 xoneco syGuatoe Z=40 1
53.2 | mmuHaenb 1
10 |II 1 35 |Taiika 3/4” 1
OTYpyHia Tpanan anka 54 |IMommumnuuk 6001RS 1
11 |BuHT camopes 4x12,5 2 36 |Bunat M4x10 1
55 |Komnbiio pe3unoBoe 044-046-14 1
12 | Kpslmka kopiyca 1 37 |I'posep 4 1
56 |Konb1o cronopHoe BHyTpeHHEE 28 1
13 |Hlerka (6x11x22) mm 2 38 |Hakmanka (TacTuk) 1
57 | Kpsllka kopiyca pexyKropa 1
14 | letounsrii y3en B cOope 2 39 |IlnacTuHa crienuanbHast 1
14.1 | meTkomepkarein 2 58 | Bunt MSx15 2
- P 40 |Iaii6a 2,0 MM (D 17,9 x d 8) 1 > .
14.2 | npyxxuHa 2 59 | Koxxyx NOJBUXKHBIN 3alTUTHBIN 1
41 |BunT cnenuanbHbI M6 1
15 |Bunt camopes 4x11 4 60 | Komnb1o cTronopHoe BHemHee 34 1
42 |1aii6a 1,55 mm (D 13,8x d 6,4) 2 -
16 |Koprryc anmexkrponBurares 1 61 | dmanen BHYTpEHHUM 1
43 B i i 1
17 |Bunt M5x44 4 HHT © TECTHTpATIHON TOTOBroM 62 | dnaHel BHEIIHUMA 1
44 |0 0 1
18 | Crarop L ||| 401 | g™ & KOPOM B E00PS | ||| 63 |ait6a 1.8 mm (D 19,9 x d 8.5) 1
19 |BunT camope3s 4x64 2 44.2 |KOXKYX 3allUTHBII 1 64 | BuHT ¢ mecturpanHoi rooBkoit M8x16 | 1
44.3 |3akienka 3
20 1 65 |II
Huadparma 444 | e X pPY’KHHA KOKyXa MMOJABH>KHOTO 1
21 | Kommencarop 1 44.5 | NOIIMITHUK UIOJIBYATHIN 1 66 | ITarpy6oxk (D 39 ; d 35) Mm 1
22 |\ Tommumnuuk 6077 1 HK081410 67 |Tposep 5 1
44.6 |nuHelika 1
23 | Sxopw 1 44.7 | kpommrreitn 1 68 |Bunt M5x14 1
24 |Hogmmmnuuk 6000RS 1




